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English

Paper 1 (Reading)
Duration : 1 hour 30 minutes

1. There are two parts in this paper, Part A and Part B. Complete ALL the

guestions in both parts.

Question types include:
a. Multiple Choice Questions

. True, False and Not given Questions

b

c. Fill in the blanks
d. Matching

e. Short Questions
f. Long Questions
g. Summary Cloze
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English

Paper 1 (Reading) 1 hour and 15 minutes
The reading assessment is divided into two parts and will last for 1 hour and 15
minutes. Answer both Part A (Compulsory) and Part B (Easier Section).
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English

Paper 1 (General English) — 1 hour
1. Reading comprehension
Vocabulary

Past perfect tense

e B ol

9. Bonus part

Using so, so that and so as to
Using must, have to and need to

Type 2 conditional (unreal situations)
Type 3 conditional (unfulfilled past situations)
Passive voice (simple present tense)

*Please refer to Oxford New Treasure Plus 3A, the grammar book and daily

exercises/worksheets.
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English

Paper 1 (GE) - 1 hour

Question types of reading
comprehension

Grammar

a. Multiple Choice Questions

1. Connectives of reason: as, because and
since

Questions

b. True, False and Not given

2. Connectives of result: so, therefore and
as a result

c. Short Questions

3. Present perfect tense

d. Long Questions

4. Reported speech : Reporting
Statements (simple present/past and
present/past continuous tenses)

2A

e. Vocabulary items from Unit 3 in NTP

5. Reported speech : Reporting Instructions
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English

Paper 1 (G.E.) — 1 hour
1. Comprehension

Multiple Choice Questions

True, False and Not given Questions:
Short Questions

Long Questions

oo oy

2. Simple Past Tense

3. Countable and Uncountable nouns
4, Quantity

5. Adjectives “ing” and “ed”

6. Vocabulary

7. Expression of time

#8. Talking about Quantities

#9. Adjectives

*Please refer to Oxford New Treasure Plus Unit 3, grammar booklets and
worksheets.
#For LHY'’s group and WYL'’s group only
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